5 10 15 20 25

2 s N
° H
g [
8 ®
M o =
g 2
2 LD °
H 11 8
= o E
£ -9 3
2 | 2
e
'S L S
g
g o b=
E T
g : 3
2 R g
8 ! p
5 S S
S z

0

N

o

o

LD

—

o

—

LD

o

el

I

o

n

LD

i

o

o

LD

£

0,

25-20-15-10-5 0 5 10 15 20 25

b
5

[N of associated (recoToSim) tracks vs dxy ]
0.

[N of associated (recoToSim) tracks vs dz_]

time_mod2

~-DOM_Time_orig2

mkFit-DQM

T1T__mKFI

BEOM
DQi
10

0

-10

-20

0

5
=3

N of reco track vs dxy
0'—“25—20—15—10 -5 0 5 10 15 20 25

N of reco track vs dz

0.!



	Contents
	Page 1


